1/odo/dp_ [GeV]]

Ratio to ATLAS

T

7000 GeV pp Z (Drell-Yan)
T | I I I T T 1T | I I I T T 1T I I _4(2
- -1
1 p_(Z) (muon channel, dressed) -z
= J=
— <
| i
— A
-1 L ] .
107 E N
— ™
- @
- =
1072 £ ="
10_3 = =%}
— —J ™M
— 9
-~ m ATLAS Jo
Lot b = Pythia 6.428 359 18
= —A— Pythia 6.428 370 =2
— Pythia 6.428 a a5
— ---v-- Pythia 6.428 dw 15
10™° == —e— Pythia 6.428 p0 B
= % Pythia 6.428 pro-g20 48
- — U
B —2
o
107° =
o H -+ —————++H EEL
2 =2
1 1
- ‘\\’:¥ —
0.5 —0.5
1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1

2
1 10 pT(lrr(%umu) [GeV]



	Contents
	Page 1


